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Which of the foilowing are the three productivity variablea?
(a) inputs, outputs, productivity mersures

(b) labar, capital, management

(e} quality, technolegy, management

(d) manufacturing, service, eapital

(e} qualily, produetivity mensyres, service

Thoe mission statement cutlines the company's
{a) profit goals

(b) rationale and purpose for existence

() product lines

{d) management structures

{a] none of the above

In tarma of decision theory, the three types of decisinng are:
(a) decisione under riak, decisions under uncertainty, and
decisions under certainty

long tertn, short term, and mid-term

decigions where the manager hes complete cuntm[ aoma
control, or no centrol over the solution

{d) marketing, finance/accounting, nr operatione decisiona
(e} none of the abgve

The expagted values of perfoct information (EVPI} ia

{g) the payofl for n dacision made under perfect
infermation ]

{h) the payolf under minimum risk

{c) the differsnce between the paya!T under certainty nad
the payoff under risk )

{d) tho average expected payoff

{e) rone of the above

b}
fc)

Of the following decigion criteria for making a decision, the
mast conaervative eriterion in

(a) mazximax

{h) maximin

{e) equal likely ) .

{s) EVFI .

(fy EMV .

C-charts are based upon the
{a) Nortaal distribution
{b) DPoisaon distribution
{c} bhinomial distribution
{d} any of these

{e) noneof the above

Control charts uaed for atiributes are uaually valled
(r) X-bar charta

(k) R-charta

[c) p-charts

(d) c-charts

{e) both e end d are attributa control charts

Fishbone charts are also known as
{a) quality loas charta

tb) target specifications graphs
(¢} cruse and effect dirgrams
(d) lshikawe disgramns

{e) mandb

(D eandd

{g) bandc

{h) none of the abeve

100% inapection

{a)} will always catch all of the defactiva parts

{b) mecana that only good parts will be shipped to acustomer

{c) is always practical and generally & good idea

{d) means that every part s checked to see whether or not it
ia defective

{e) all of the above are true

The Taguchi method includes three major concepts. These

concepls are al} of the following except

{a} employee invelvement

{b] remeve the effecta of adveras canditionn

{e} quality loss [unction

(d) imrget specifications

{e} mnone of the above are part of the Taguchi concept
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"Poka-Yoke" in the Japanese term for - -
{a) card

(b} econtinuous 1mprovement

(¢} foolproof device .

{d) fishbone diagram

{8} none of the above

Pareto charts are used to o
{n) jdentify inspection points in a procesa
(b} organize errors, problems or defects

(¢) outline production schedules

(d) show an assemhbly aequenm ’ A

(e) none uftha above S UL E R

A procean chsr‘» ia uue& to

(a} identify the best data collection pmnt.a

(b} isolate and track origin of pmblems

identify the best place for process audits .

-identify epportunities for travel distance reduction
all of the above

(d)
(e}
A::ceptanw sampling ia vsually used to control R
(n} ineoming lots of purchessd produtts :
(b) the number of units output from coe atage of a pmcm!s
which are then gent on to tha next stape

the number of vnita delivered to thé customer

the quality of werk-in-process inventory

none of the above

{c}
{d}
ie)

Producer's risk is the proba'b;llty of '
{a}’ acceptmg agood lot
{k] rojecting a bad lot -
(c} accepting abad lot "
(d) rejecting a good lot
(e} none oftha abnva T e

When units are randcmly salect.ed from a lut and tasted one
by onae, with the eumulative number of inspected pieceas and
defects recorded, the procesa. is c.al]ad
(a) single samp]ing ) b
(b} sequential sampling
(¢} double mampling

(d) rimple sempling

(e} noneof the abova

LAl itk e

In aitribute nampimg, & binomial prubabmty distribution is
usunlly used to build the OC curve. However, the Poisecn
probahility distribution ean be used as an approximation for
the binomial distribution when

{e) thesample gize is large and the percent defectwe is
large i
I.he sample uize is smell and the percent defective is
arge

the sampls piza ia smnll and the percent defective is
emall

the pample size ia large and the percent defective is
amall

nane of the above

(h)
(¢}
@y
(e}

An OC curve deacribes

(a) the sample siza nacessary to dmtmguish between gnod
and bad lots

(b} the most appropriate eampling plan for m given

incoming product quality level ° o

hew well an acceptance sampling plau discriminates

between good and bagd lots

{(d) the number of defective itemn requ:red to reject alot

(e} noneofthe abuve

(e)

The relationship between the average out.gnmg guality (AO0Q)

and the true percant defective is puch that -

(a) AOQ » true percent dafoctive C

(b} ADQ = true parcent defactive

(¢} AOQ < trus percent dafective

(d) there is no relationship between AOQ and true percent )
defactive

() none of the abeve

The Eé-Chart telis us
(e} whether n gain or toss in uniformity has oceurred
(bt whather there has been a charpea in the percent defective
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{e) none of Lhe above T

The qualitative model that ponls the apinions of & group of
high-level manager is known as the

ta) Jury of Executive Opinion Model

tb] Sales Force Comporite Modal

{c} Daiphi Model

{d) Coosumer Merket Survey Model .

(¢} nona of the above ’ T

Which of the following componernts of time serigs model
cannot be explained?

{a} trend

b coycle

(e} seamomality

{d) randem varimtions | )

te) all can be explained by a tima peries model

Croup Technolgy (GTY requirea that - .
{a) each compenent be identified by a coding schems that
specifies the type of processing and the parameters of
tha processing o . .
{b) n specific apries of engineering drawings be prepared
te) all hills-of-material be prepared wsing the same format
(d) engineering change notices be linked to pach of the bills-
of-material and engineering notices
(e} done of the abave

For which of the following procesa typee are wa most likely to
employ just-in-time inventory and procurement techniguea?
(a) intermittent process ' ’

(b) repetitiveprocess |

(c) continuous process ’

(d) all ofthe ebove

{e) nons of the above

Menagement information eysteras (MIS}

ta) analyre data more fully than traneaction pracessing
syslems but not as fully as decision support systetn

(b) are data collection and information processing systems

fe) utilize mophisticated management dcience technigues
auch as linear programming L

td) are abla ic mnewer "what if?" guestions posed by the

_decision maker .

(#) all of the above are true .

The main dissdvantages of a procesd-oriented layout stem

from: ' LT

{8} the simplified acheduling problems presented by thi:
layout atrategy

(b its ability to emplay low-skitied labor

(c) the general-purpose use of the equipment

(d). the low work-in-process inventory characteristic of
this layout etrategy

{(e) none of the above

Four components of job design are _
{a}) employment stability, weork rchedulen, work sampling,
. pnd motivation and incentive syatems .

(b) job specialization and enrichment, paychological
components, ergonomics and work methods, and
motivation and incentive systems

(¢} . job epecialization and enrichment, motivation and
incentive mystemna, employment stability, atd work
gampling

td) ergenomics and work methods, method time
measurement, work achedules, and motivation and
incentive aystems

{e} none of the above

The difference between net change MRP and regenerative

MHRP is that . . )

{a) in net change MRP, the entire MRP program, rather
than just A portion, is executed

{b) in net change MRP, computations are redone only for
those items which have had activity

(e} regenerative MRP requires more sophisticated computer
programe )

(d} net change MRP requires mora computer processing
tima

(D) none of the above

A master prodﬁctiun schedule ﬁﬁn_tains information with

regard to - .
fa) quentities and required delivery date of final products
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"{h) ‘quantities and required delivery date of sll aub-’

~ npsemblies ; :

{(¢) ~inventory on hand for each finnl product
td} inventery on hand for ench sub-assembly
(@) all of the above o L
Which of the lot-pizing techniques may be used with MEP
{a} lot-for-lot

b) TOQ - ' )
{e) part-period-balancitg e e
{d) all of the above R
{6} noneof theabove ™ - B TR

e AR R

A bill of material is a liskef . - ° -~ -

{a) the preduction sehedule for all products

(%} the components, ingredients, and materials required to
produce an item .

{c) the gperationa required to producs an item

{d} the components, ingredients, materials and assembly
operetions required 4o produce an item -

(e} nene of the above =

MRPHiS - H Lo . . PR [

(1) MRP with s new set of computer programs which exacute
N micro-computers b :

(b} MRP augmented by othér resource variablea

(c) ususlly employed to isplate manufacturing operations
from other aspecta of an organization .

{d) all of the above : e

{e) none of the nhove

By the term dependent deriaad w2 mean that demand far an

item is: : e T

{a) dependent upon demand for ancther item

{b) dapendent upon customer requests

() dependent upen the selling price for that jtem

(d) dependent upon gavernment reguldtion’

(2} ‘mone of the abava to S

Succersful implemantation of 2 Kanban system implies

{a) that production is Aecomplithed in [Arge batches uaing
Light schedule : -

th} emphasis on the use of general purposed machines

{¢) emphasis on mesting schedulea, and reducing tha
timefcoat of setups I

{d} all of the above

(¢} nane of the above [N

If the annusl demand in a basie EOQ model inecraaned 4
times, and all other parameaters remained the same, the EOQ
would

{a) increase by a factor of 4

b)Y increase by a factor of 2

{c) remain the same but ordora are placed 4 times faster

{d) decrense by A factor of 2 but order are placed 4 times
faater :

(e none of the above

The tracking signal is computed as

{a) the running sum of farecast errors (RSFE)
(b} the mean abeclute deviation

(e) = RBFE/MAD

(d} all of the abova

(e} monsof the abve

Which of Lhe following aggregate planning etrategies is
likely to have the greatest impact on quality?

(a) varying production rates throeugh avertime or idle time
(b} changing inventory levels

{¢) using part-time workers

(d) back-ordering during pericda of high demand

(e} none of the nbove

Backward scheduling :

(a) assumes that a delivery dateis decided upon, and each
operation is offset ona at a time

fh) aseumes that procorement of material and operationa
start as soon a8 the requirements are known

{¢] is well auited where the supplier ia nsually unable to
meet preciee delivery dates

td) tends to build up in-pracess inventary

{a) noneof the above '
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